Name Date Page 1
Ratio: Skill 5 - 25A
Answer to test question 25A. A ratio is a
What is the ratio of the total number of stars to the comparison of two
number of blue stars? -
quantities. /\ /\ /\
Answer:
9to4o0r9:4

What is the ratio of
gray triangles to
white triangles?

AN/

There are a total of
9 stars. There are 4

blue stars. So, the
ratio of total stars to
blue stars is 9 to 4.

JAVAVAN

The ratio is 4 to 5.

There are Three Kinds of Ratios

Part to Part

AAA
ANN

AN

The ratio of gray triangles to white
triangles is 4 to 5.

Write it three ways.
4t05

4:5

(S]F

read: four to five

Part to Whole

AAA
ANN

AN

The ratio of gray triangles to the

total number of triangles is 4 to 9.

Write it three ways.
4109

4:9

4
9

read: four to nine

Whole to Part

AAA
ANN

AN

The ratio of the total number of
triangles to gray triangles is 9 to 4.

Write it three ways.
9to 4

9:4

9
4

read: nine to four

Directions: Write each ratio. Write each answer three ways. The first three are already completed as examples.

1. What is the ratio of gray triangles to white triangles?

AANNNNN

Answer: There are two gray triangles and 5 white triangles so the ratio of gray triangles to white triangles is 2

to 5. The answer can also be written 2:5 org.

triangles?

There are two gray triangles and 7 total triangles so the ratio of gray triangles to total triangles is 2 to 7, 2:7 or =.

AAAAAANA

number of gray triangles?

There are 7 total triangles and two gray triangles and so the ratio of total triangles to gray triangles to is 7 to 2, 7:2 or~.

2

What is the ratio of gray triangles to the total number of

What is the ratio of the total number of triangles to the

AANNNNN

2

7
2
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Ratio: Skill 5 - 25A

Directions: Write each ratio. Write each answer three ways on the line.

1. What is the ratio of gray triangles to white triangles? AAA
What is the ratio of gray triangles to the total number of

2. triangles? A A A
What is the ratio of the total number of triangles to the

3. number of gray triangles? A A A

NAN

4. What is the ratio of gray triangles to white triangles? AAA

5 What is the ratio of gray cylinders to the total number of 8 8 8 8 8 8
" cylinders?
6. \r?ﬁ:r?tt) (I.;.S; tohfegrrgii/c;r(i); r:gclaetso?tal number of triangles to the /\ /\ /\ /\ /\ /\
7 \rq\lﬁr:séésr ';r:cirzggglgggray triangles to the total /\ /\ /\ A /\ /\ A /\ /\
8. :/r\ilgr?;li:st’?e ratio of gray triangles to white /\/\/\A/\/\A/\/\
9. What is the ratio of black triangles to white triangles? /\ /\ /\ /\ A /\ /\ /\ /\
10. What is the ratio of total triangles to gray triangles? /\ A /\ /\ /\ /\
11. What is the ratio of white triangles to black triangles? /\ A /\ /\ /\ /\

12. What is the ratio of gray cylinders to white cylinders? 8 B 8 8
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Ratio: Skill 5 - 25A

Directions: Write each ratio. Write each answer three ways on the line.

13.

What is the ratio of gray cylinders to white cylinders? 8 8 8 8 8 8

14.

What is the ratio of the total number of hexagons to the <:> <:>. . <:> .
number of white hexagons?

15.

What is the ratio of gray cylinders to the total number of
cylinders?

16.

What is the ratio of black hexagons to the total number < >< >< >
of hexagons?

17.

What is the ratio of gray hexagons to black hexagons? <:> <:> <:> <:> <:> .

18.

What is the ratio of the total number of triangles to the /\ /\ A /\ /\ /\
number of gray triangles? A /\ /\ /\ A /\

19.

T VAV VAV VAVAY VAV
triangles?

20.

What is the ratio of gray triangles to the total /\/\/\/\/\/\ . /\/\
number of triangles?

21.

OO080®
QOOOLOO

What is the ratio of black hexagons to white hexagons?

22.

What is the ratio of total triangles to gray triangles? 8 8 8 8 8 8

23.

What is the ratio of white triangles to black triangles? A AA AA A A

24,

What is the ratio of gray cylinders to white cylinders? 8 8 8 8 8 8
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Answer Key Skill 25A Grade 5

1.1t02,1:2, + 2.1t03,1:3, L 3.3t01, 31, 3

2 3 1

4.210 4, 2:4, 2 5.21086, 2:6, 2 6.6t02, 62 8

4 6 2

o 1 s 1 a1

7.1t09, 19 L 1to6, 16 L . 4, 1

09, 9,9 8 0 6, 6,6 91to4,14,4
10. 6 t0 3, 6:3, g 11.5t0 1, 51, % 12.21t0 2, 2:2, %
13.310 3, 3:3, % 14.610 1, 61, % 15.310 6, 3:6, %
16.1t0 5, 1.5, % 17. 410 1, 41, % 18. 12 to0 3, 12:3,
19. 2t0 4, 2:4, % 20.5109, 59, g 21. 210 4, 2:4, %
. 6 - 2 e 1
22.6101,6:1, 2 23.2103,2:3, 24.1105, 15,
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